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Not� f-1rst \ $ nunUl<'S nIT al\ottt"d f r tht" candidl\1.('S to rrnd the qucsuon 

11, � � 1 � 1 o ffifi •!f•s"'4tq t , 

111\ � � 11 � lO r-f m "'! 3,,.; .. � I f�-1,f,1 '!ti\ � 10 � (� 
�) i;�t1 

I\ I � mil1 2 l � 26 � � 3'4<iCl-l � if> t. fl'l-1¥-I "3m � 'R'TNT1 
50�q�t, 

\) � � 27 � 30 n{fi � 5+i#\1i•ll � ';f; i (J•-;,S: � � M• \..7 

100 ll 12S � it � t i 

n) 'l1T-i � 31 � 32 � 1,w#\ca t f;,-1.:t � � �'T. 250 � � 
� �I 

\'11) � � � � � � � 3lTq,,..., t I 

/nstn4crtonS' 1l All quC'stions ar(' compulsory. 

u\:,Queslion Nos. l to 10 are of Multipk Cho1C't' type 
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1. 

2. 

3. 

4. 

iii) Question Nos. l I to 20 are of Very Short Answer type_ l'heir 
answers arc to be given in about 10 words ( one senten Ce) 
each. 

iv) Question Nos. 21 to 26 are of Short Answer - r type. Their 
answers are to be given each in about 50 words. 

v) Question Nos. 27 to 30 are of Short Answer - n type. Their 
answers are to be given each in about 100 to 125 words. 

vi) Question Nos. 31 and 32 are of Long Answer type. Their 
answers are to be given each in about 250 words. 

vii) Allotted marks of all the questions are given against them. 

( iltfaiM'ftq lfA ) 

( Multiple Choice Type Queatlona ) 

f-11.ifMf&ct � � ii � � � f�cfi� � � f I � � 'ml fqcfi� � 

� � 'iffi1ctil ii fMf&Q I 

� 11c � mlR �"'t.-1-1 � m it 3tt4'f.,,fl � lTm � ? 

3l) �� 'ii') � 

�) cfitftH, �) �t.-1�s 

3l) l{'R 

�) �,,�us 

� cf; tj�jqq, � cf,1 � � ?.ft 

3l) 12 

�) 15 

3l) I 

�) 2 

'ii') qffcfi�H 

�) ����Refit 

q) 10 

�) 18 

q) 5 

�) 3 

I 

1 

1 

l 
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5. 

6. 

8. 

3 

WJm � W� qf<"-1<; '$ 3H�i4\ fie;� cfiT cfil�cfiJM � t° 

31) I� 

lt) 5� 

31') 1956-59 

�) 1961-63 

if) 2 qq 

�) 6� 

if) 1970-73 

�) 1966-69 

·��·"cf,T���itt? 

31') q1�«1H . 'ii) ifi•Mi��I 

�) � �) \TI«f 
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I 

I 

1 

9. \il<ffi4 � -;ftfu cfi � fu-41.:a 11JG �· � cf;� 'WT it � t ? 

. 31') �� 'ii) ;ftfu r��!(l,cfi 'rntf 

�) �� �) tl��4 � 1 

10. ·��·����cf; � rm) itt? 

31') �'ll«f . 'ii) '3TI\ \TI«f 

�) qftelq\ 'lT«f �) �� 1 

Note : Four alternatives are given for each of the following ten questions. 
' . 

Choose the correct alternative and write it in your answer-book. 

l. In which city was first Non-alignment Summit held ? 

a) New Delhi 

c) Cairo 

70022/80 

b) Geneva 

d) Belgrade 1 
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2. �Inter-Services Intelligence" is intelligence agency of 

a) Iran 

c) England 

b) Pakistan 

d) United States of America 

3. Total number of founding members of NATO was 

a} 12 

c) 15 

b) 10 

d) 18 

4. How many countries of European Union have nuclear weapon? 

a) 1 b) 5. 

c) 2 d) 3 1 

5. The non-permanent members of United Nations Security Council are 

elected for the term of 

a) 1 year b) 2 years 

c) 5 years d) 6 years 

6. W}:lich neigh boring country of India can 

Passport/Visa ? 

a) Bangladesh b) Nepal 

c) Sri Lanka d) .Pakistan 

7. Plan holiday period of five-year plans was 

a) 1956-59 

c) 1961-63 

b) 1970-73 

d) 1966-69 

8. Which country is related with Awami League? 

a) Pakistan 

c) Nepal 

70022/80 

b} Bangladesh 

d) India 
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o With which part of the Constitution is the fundamentaJ principle of "Non­
alliancc" of Indian foreign policy associated ? 
a) Constitutional Provision 

c) Fundamental Rights 

b) Directive Principles of Policy 

d) Parliamentary Act 

10. With which part of our country is 'Seven Sisters' related? 

a) Southern India 

c) Western India 

b) Northern India 

d) North-Eastern India 

c atm'Rf! a"'"q 1IR) 

( Very Short Aaawer Type Queationa ) 

1 1. � qftjqj cfi � ffl � � cfi ;nq iin1$(! I 

11. What arc the .two smallest countries in South Asia ? 

12. ,.{,cnq litf cn1 �14-11 * � am tt ? 

• 

12. What was the purpose to establish the European Union? 

l 

1 + 1 

1 + 1 

2 

2 

1 + 1 

13. Mention the names of.two countries who used veto power maximum times. 

l + 1 

1 + 1 

14. Write the names of any two agencies of United Nations Organisation. 1 + 1 

15. 3t-i1Hi�1q � cfi � ffl cfit ffl � �-�<cfiRi �an cfi ;rrql cf;T 3R-i& 

ifitl l+l 

15. Mention the names of two Non-government organisations working for 

international hµman rights. 1 + 1 

70022/80 
l Tum over 

Previous Pathshala



323(AR) 

16. � �� � 3ntT � H'-111� � ? 

6 

16. \1/hnt do ,·ou understand by common property? 

• 1 � � c.� � * � �1'1,,Q � lTffl mf �nfon ror et, 

2 

1 + I 

17 · Write t.hc names of such two st-ates who were union territori,es earlier. 1 + 1 

l � I Q75 ll 3l1qiact1tR � RTlRT � ? � � cfil{OO q;r 3�© cf11f"1Q I 1 + 1 

18· Why was en1crgency imposed in 1975 ? Mention any two reasons. 1 + 1 

l Q · �-cf,� � ��� 370 'cfft «41� * � 4f<Oll41 cf,T 3�© cf>lf;;,Q I 1 + 1 

19· Mention two consequences of removing article 370 in Jammu-Kashmir. 

1 + 1 

I + 1 

20. Mention the names of nuclear bombs which were dropped on Japan. 1 + 1 

( 'R"fJ ,ih•Ffl q - I l1R ) 

( Short Anawer - I Type Questions J 

21. � 34.fiHl&;lQ � olli!H�I � 3il4cfil � � t ? � � 4RUllt:j � ? 

21 + 21 
2 2 

21. What do you mean by New International Economic order? What were its 
results? 21 + 2.l 

2 2 

22. ��Hl�lq fflRi � ll � � � cfft «lf>Mrli 'cfiT � � 3�1(({00 � iilrll�Q I 

21 + 21 
2 2 

22. With the help of two examples state about the success of United Nations 

Organisation in the establishment of International peace. 2½ + 2½ 

23. Who arc indigenous people? Mention any three rights of them. 

70022/80 
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)4. � � $ � �l�H I/Cf� ?tYl'f � �{� qfturrt:TI � 3t+1'.4 � I 

14. Write two positive und two ne�ative consequences of Green Revolution. 

21 + 2.!. 
2 2 

5 

25. What were the impacts on mass communication during emergency ? 5 

26. "(4�qH � ll � (f,1 <l-il-1lfo � 3ilel�4tf>HI i 1" f;.-4�iHI it>lf"1Q I 5 

26. "The need of political alliance in present scenario is a necessity." Discuss. 

5 

( "'! a,,f\q - 11 1Q=f ) 

C Short Anawer - D Type Queatlona ) 

27. mfl:44d � � • � 4i'lRtf>I cfft 31'i!¼6Qr,H� 11 � m;r fq�J(tijcil3n qiT 3t+I© 

'f>1f"1Q I 2 + 2 + 2 

27. Mention three separate features of economy of Soviet Union and United 

States of America. 2 + 2 + 2 

28. '{<l<fl4 � ctft tl4i("fdl cfi � 3'tH�14l � oR tf>(<OO qiT 3R'-i© �f-ittt I 2 + 2 + 2 

28. Mention any three reasons behind the success of European Union. 

2+2+2 

29. Examine the role of five-year plans in economic development of India. 6 

30. � '1T«f 1t � lltt � 3tj�)("f-1 �i�fotf> � � � NO$Q-i � 

\ �-� �Nsqfij; t I � cf,�f-itQ I 6 

30. The, maximum movement in eastern India is a mixed representation of 

cultural glory and economic backwardness. Review. 

70022/80 
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c � a,.,iha VR > 

( Long Anawer Type Queatlona ) 

31. "�rllll-l 'lfra-"iWl � � � 3Til.ITT ����tr"� �R � � 

ct,lf;:;,Q I 8 

4 + 4 

31 · "Border dispute and trade are the bases of current India-China relation.· 
Review the statement. 8 

OR 

Explain the consequences of national emergency on the grounds of 

Fundamental Rights and Executive Judiciary relations. 4 + 4 

32. 1Jc" � � � �t? m«im �;ftmtRlmUl � � � �mifi,cti � TJm 

t ? 4 + 4 

JrQclT 

� � � � � � � ��nilcfi � mT.13@ w.fiR � rt t t '' � � <fiT 

�- What is Non-alignment? Is it relevant in deciding Indian foreign policy? 

8 

4+4 

OR 

"Foreign relations of India with its neighbouring countries is of mixed 

type." Explain the statement. 
-· - - -- -:. _ . .: 
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